Statistics 1 Estimation Questions

4 The time, x seconds, spent by each of a random sample of 100 customers at an automatic
teller machine (ATM) is recorded. The times are summarised in the table.

Time (seconds) Number of customers

20<x < 30 2
30<x< 40 7
40<x< 60 18
60<x< 80 27
80 <x < 100 23
100 <x < 120 13
120 <x < 150 7
150 <x < 180 3
Total 100

(a) Calculate estimates for the mean and standard deviation of the time spent at the ATM
by a customer. (4 marks)

(b) The mean time spent at the ATM by a random sample of 36 customers is denoted by Y.
(i) State why the distribution of Y is approximately normal. (1 mark)
(ii)) Write down estimated values for the mean and standard error of Y. (2 marks)

(iii) Hence estimate the probability that Y is less than 14 minutes. (3 marks)




4 The weights of packets of sultanas may be assumed to be normally distributed with a
standard deviation of 6 grams.

The weights of a random sample of 10 packets were as follows:

(a)

(b)

498 496 499 511 503 505 510 509 513 508

(i) Construct a 99% confidence interval for the mean weight of packets of sultanas,
giving the limits to one decimal place. (5 marks)

(ii)) State why, in calculating your confidence interval, use of the Central Limit
Theorem was not necessary. (1 mark)

(ii1) On each packet it states ‘Contents 500 grams’.

Comment on this statement using both the given sample and your confidence
interval. (3 marks)

Given that the mean weight of all packets of sultanas is 500 grams, state the probability
that a 99% confidence interval for the mean, calculated from a random sample of
packets, will not contain 500 grams. (1 mark)

4 A very popular play has been performed at a London theatre on each of 6 evenings per week
for about a year. Over the past 13 weeks (78 performances), records have been kept of the
proceeds from the sales of programmes at each performance. An analysis of these records
has found that the mean was £184 and the standard deviation was £32.

3

(a)

(b)

Assuming that the 78 performances may be considered to be a random sample,
construct a 90% confidence interval for the mean proceeds from the sales of
programmes at an evening performance of this play. (4 marks)

Comment on the likely validity of the assumption in part (a) when constructing a
confidence interval for the mean proceeds from the sales of programmes at an evening
performance of:

(1) this particular play;

(i) any play. (3 marks)

(a)

(b)

A sample of 50 washed baking potatoes was selected at random from a large batch.
The weights of the 50 potatoes were found to have a mean of 234 grams and a standard
deviation of 25.1 grams.

Construct a 95% confidence interval for the mean weight of potatoes in the batch.
(4 marks)

The batch of potatoes is purchased by a market stallholder. He sells them to his
customers by allowing them to choose any 5 potatoes for £1.

Give a reason why such chosen potatoes are unlikely to represent a random sample
from the batch. (1 mark)






